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QUESTION 1

Examine the following settings for a session: 

PLSQL_CODE_TYPE = NATIVE 

PLSQL_OPTIMIZE_LEVEL = 3 

Which statement would be true in this scenario? 

A. The compiler would automatically inline subprograms. 

B. The compiler would inline the code for external subroutines. 

C. The compiler would inline the code even if the INLINE pragma is set to NO. 

D. The compiler would not inline the code unless the INLINE pragma is set to YES. 

Correct Answer: A 

 

QUESTION 2

Which three statements are true about hierarchical profiling? (Choose three.) 

A. It provides function-level summaries. 

B. It produces an aggregated report of the SQL and PL/SQL execution times. 

C. It is useful for understanding the structure and control flow of complex programs. 

D. It can be used to identify hotspots and tuning opportunities in PL/SQL applications. 

E. It generates trace information for PL/SQL programs in the PLSQL_TRACE_EVENTS table. 

Correct Answer: ACD 

 

QUESTION 3

View the Exhibit and examine the code in the PL/SQL block. 
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The PL/SQL block generates an error on execution. 

What is the reason? 

A. The DELETE(n) method cannot be used with varrays. 

B. The DELETE(n) method cannot be used with nested tables. 

C. The NEXT method cannot be used with an associative array with VARCHAR2 key values. 

D. The NEXT method cannot be used with a nested table from which an element has been deleted. 

Correct Answer: A 

 

 

QUESTION 4

Which two statements are true about the context of an application? (Choose two.) 

A. It is attached to a session. 

B. It is owned by the user SYS. 
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C. A user can change the context of his or her application. 

D. The PL/SQL package associated with the context must exist before the context is created. 

E. The predefined attributes in the USERENV application context can be changed as per the requirements. 

Correct Answer: AB 

 

QUESTION 5

Examine the section of code taken from a PL/SQL program: 

PROCEDURE p1 (x PLS_INTEGER) IS 

... ... 

PRAGMA INLINE (p1, \\'NO\\'); 

x:= p1(1) + p1(2) + 17; -- Call 1 

... 

x:= p1(3) + p1(4) + 17; -- Call 2 

Call 1 and Call 2 are the comments for distinguishing the code. The PLSQL_OPTIMIZE_LEVEL 

parameter is set to 3. Which two statements are true in this scenario? (Choose two.) 

A. The calls to the P1 procedure are not inlined in the section commented as Call 1. 

B. The calls to the P1 procedure might be inlined in the section commented as Call 2. 

C. The calls to the P1 procedure are inlined in both the sections commented as Call 1 and Call 2. 

D. The calls to the P1 procedure are never inlined in both the sections commented as Call 1 and Call 2. 

Correct Answer: AB 
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